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Oss sl =22 F 10,000
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FH 531
o

HE: s 5& ZH L
€ sE0SSENHLE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdAHIASE ZHIALY OlblAHE =8
50,000,000& » 14! 50,000
403 X SHH S0l & 2,040,000 508,600 1,531,400
& 1,428,000
< 143,000
Al 469,000
02 3|25 0l CH 8HCH 28 At HI 2,040,000 508,600 1,531,400
OHAUIASE YA (Kl &HEdl) 1,080,457
= 755,000
< 75,700
Al 249,757
OsZ0ISSEMNLAS(HEE) 959,543
& 673,000
< 67,300
Al 219,243
sHEMaEH E | 2,279,000 2,664,000 A 385,000
& 1,455,000
Al 824,000
SEMEAZH(FFIILESE) 2,079,000 2,614,000 A 535,000
& 1,455,000
Al 624,000
401 Al HIZ 201 I 2,079,000 2,249,000 A 170,000
& 1,455,000
Al 624,000
01 A& HI 2,071,516 2,240,904 A 169,388
OSEMZHATY ALY
2,079,000, 000& *99.64% 2,071,516
& 1,455,000
Al 616,516
03 Al 2 THHI 7,484 8,096 AB12
OsEMHESZEHIAY 7,484
PSR R S 200,000 50,000 150,000
401 AIEHI L 2 CHYI 200,000 50,000 150,000
01 A& HI 198,560 50,000 148,560
O&&ors Jlgtx2d & X&
200,000,000& *99.28% 198,560
03 AlE =2 THHI 1,440 0 1,440
O&@ars Jlgtx2d & X3
200,000,000& *0.72% 1,440
FFsF x4 214,000 200,000 14,000
= 100,000
< 20,000
Al 94,000
S AR 214,000 200,000 14,000
= 100,000
= 20,000
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Sel BFEHATY (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 94,000
201 et | 10,000 0 10,000
01 AP 22| d| 10,000 0 10,000
OH=sHE 222 HE 10,000
202 044l 4,000 0 4,000
01 2ol 4,000 0 4,000
OZAIQSX X 4yl 4,000
307 2iz2to| A 200,000 200,000 0
= 100,000
= 20,000
Al 80,000
02 Q123 A X 200,000 200,000 0
OEANU=sERIAL 200,000
= 100,000
o 20,000
Al 80,000
HAE2H A 103,112 73,437 29,675
oleddy|(s& ) 48,012 43,837 4.175
ol 2| (s3I 48,012 43,837 4.175
101 2121 H] 48,012 43,837 4.175
03 RIAHL*Z2ZZ2XE S 48,012 43,837 4.175
OgREX(sHIL 29) 48,012
a2 1,015,740 128 »2H 24,378
A2 24 377,760 /12 «400% 8,126
WESE XH| 120,000 x 12 x2H 2,880
o FAH| 130,000 122 x2H 3,120
A2t 2R 4
5,985& x15A1 2F*1. 58 128 »2H 3,232
HESIHHI(E,=4)
1,015,740 120%*2H 2,438
oA JF &2 AbH| 47,8823 x10L *2 958
o4 2,160
IIELS (222, JIEH) 720
|[2dd(s& 1) 55,100 29,600 25,500
12 A (5T D) 55,100 29,600 25,500
201 et 9| 3,000 3,000 0
01 At 22| 3,000 3,000 0
O3] 3,000
202 04| 22,400 22,400 0
01 2L I 22,400 22,400 0
Osd8g: =& 22,400
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